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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
- weif Aess T mie

a)  What is producers surplus?

TRoAMTE TFE FI(F AT 2
b) Define price.
VIS s 1l |
c) State the supply function.
G ST (572 |
d)  What is private opportunity cost?
RS | Wi Ao A FIE A0 2
e) Define price elasticity of demand.
pifzvE wiNete oz el nie |
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h)

i)

k)
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Name any two legal form of firm.
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Name two fixed factors of production in short

run.
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How does the budget line change if the income
of the consumer falls, keeping other things

constant?
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Give two examples of variable cost in the short

run of production.
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Write the equation for isocost line if the output
is produced with two factors — labour and

capital.
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Write any two properties of an indifference

curve.
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Give two reasons for an upward shift of the

demand curve for any good.
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Define an isoquant.
I-CRAME (FLIF <G| WIS |

Draw the demand curve if it is price inelastic

for a good.
a3 eT-sfzfeglsie viftnt el i |
Write the equation of the budget line of the

consumer in a two-commodity world.

ufb slaway e @ ey Az Aes @dm
TR @14 |

2. Answer any four questions: 5%x4=20
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a)

b)
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“Indifference curve is convex to the origin.” -

Explain with diagram.
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Define cross - price-- elasticity of demand. How
can goods be classified according to the cross -

price - elasticities? Give example for each class.
1+2+2
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3. Answer any two questions:

Discuss briefly the relation between average and

marginal product with diagram.
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Write a short note on exceptions to the law of

demand.
sifewt e afsenale o it @14

Explain with diagram how equilibrium price is

achieved in a purely competitive market.
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10x2=20
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a)

b)

380/Eco.

Discuss with diagram, how a consumer achieves
equilibrium in a two-goods world given their
prices and money income, using the concept of
indifference curve and budget line. Also write

the conditions of equilibrium. 8+2=10
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Why is the demand curve negatively sloped?

Explain with diagram how you can measure the
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slope of a downward sloping straight line
demand curve. 5+5=10
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Explain diagrammatically how can you derive
long run total cost using the short run total costs.
10
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Explain different types of returns to scale of
production. Define expansion path of the firm.
7+3=10
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